
 1 

 
 

Item # | Product Name:   #300106 Pylon Hoop Attachment Kit 
 

Parts List: Tools Needed: 

1.  Nylon Roller (1) 1.Mallet 

2. Aluminum Plate (1) 2.Silicone 

3. Plastic Connection (1) 3.Ratchet 

4. Hoop (1) 4. 9/16” Socket 

5.1/2” x 7 ¾” Bolt (1) 5. ¾” Socket 

6 .3/8”  x 1 ¼” Bolt (5) 6. ¾” Wrench 

7. 3/8” x 1 ½” Bolt (1) 7. 

8.3/8” Washers (6) 8. 

9. ½” Nut (1) 9. 

10. ½” Washers (2) 10. 

 

 

 
 

 Parts Shown Above:  #1, #2, #3 
 
 
 
 
 
 
 
 
 
 



 2 

 
Assembly Instructions: 
 

1. Attach the nylon roller with the ½” x 7 3/4  bolt and nut onto the aluminum plate. 
 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. Slide plastic connection into the dock channel.  Align center hole of roller plate with the center threaded 

insert in plastic connection.  Attach with the 3/8 x 1 ¼ bolt and washer.  Align hoop and roller plate with the 

remaining inserts and fasten with the 3/8 x 1 ¼ bolts.  Fasten the attachment to the dock with the 3/8 x 1 ½ bolt 

thru the slot in the dock deck into the threaded insert in the top of the plastic connection. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Attach roller here. 

Plastic 

Connection 

Roller Plate 

Hoop 



 3 

 

3. Completed Pylon Hoop Attachment Kit shown below. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 


